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Section A: 10 marks (2 marks each)
Choose the correct answer and write its number (1, 2, 3 or 4) in
the brackets provided.

1 How many sweets are there?

Q 7
@ 6
) 5
4 4

2 6+3=

)

(1
(2)
(3
4)
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What is the missing number in the number bond below?

(1)
(2)
{3)
(4

1is greater than

B o
2) 2
(3 5
@) 10 {

There are 7 students. 3 of them are girls. How many boys are
there?

B 1w

2 2

(3) 3

4 4 (




Section B: 20 marks (2 marks each)
Work out the Tollowing sums. Show all your workings and write
the answers in the spaces provided,
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7 10-6=

Answer,

8 Complete the number pattern.

Answer:




10 Whenyou add 8 To me, the answer is 9. What number am I?

Answer:,

11 There are 5 red and blue pencils altogether. There is 1 more
blue pencil than red pencils. How many red pencils are there?

Answer.

12 Use 3 of the numbers below to form an addition equation.

1,7,6, 4

O

1

13 John has some apples. After eating 7 apples, he has 2 apples
left. How many apples does John have at first?

Answer:,




14  Find the value of (7
'ik’ :
< -

4
4

1

15  Jason buys 4 rulers. Marcus buys more rulers than Jason.
They buy fewer than 10 rulers altogether. How many rulers
does Marcus buy?

Answer:

END OF PAPER

Have you checked your work?
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